TP (L) – F3B


	ITEM
	CELL NUMBER(S)
	DEFINITION
	EXAMPLE
	PURPOSE

	General Comment
	N/A
	Template should only be filled for direct business by insurance companies that have VA portfolios, and by groups for those entities outside the E.U. that have VA portfolios.
If VA policies are split between two companies, for instance a life company and a non-life company for the VA guarantee, the company with the guarantee should fill this template. 
	N/A
	Allow for this very specific business solo supervisors and colleges to get information on aspects highlighted in the T.F. report, and notably:

-results;

-reserving;

-hedging strategy and hedge inefficiencies;

-systemic risk

Main categories of data :

-Identification 

-Hedging

-Results



	Product denomination
	A1
	Consistent with cells A1 in F3 and A2 in F3A
	N/A
	Identification and reconciliation

	Type of strategy
	A2
	Closed list of choices:

-N: None;

-D: Dynamic;

-S: Static;

-A: Ad hoc.

Dynamic hedging is frequently rebalanced; static hedging is made of “standard” derivatives but not frequently rebalanced; ad hoc hedging is made of financial products structured for the specific purpose of hedging those liabilities
	N
	Assess the type of hedging and its adequacy with the risks.

	Delta hedged
	A3
	Closed list of choices:

-Y: Yes;

-N: No;

-P: Partial;

-NS: Not sensitive. 

Partial means that the strategy is not intended to cover the whole risk. Not sensitive is to be selected if the guarantee sold is deemed independent from the risk factor.
	Y
	Assess the type of risks hedged and their adequacy with the risks of the guarantee. 

	Rho hedged
	A4
	Same list  as A3
	Y
	

	Gamma hedged
	A5
	Same list  as A3
	Y
	

	Vega hedged
	A6
	Same list  as A3
	Y
	

	FX hedged
	A7
	Same list  as A3
	Y
	

	Other hedged risks
	A8
	If other risks are hedged, their names 
	N/A
	

	Economic result without hedging
	A9
	The “economic result” the guarantee of the policies have generated during the preceding year if there is no hedging strategy in place, or would have generated without it if there is one in place. It should be equal to:

+premium/fees for the guarantee

-charges due to the guarantee

-claims due to the guarantee

-variation of guarantee TP
	1000000
	Assess the evolution of the guarantee over the year. 

	Economic result with hedging
	A10
	If the company is hedging, the preceding result modified by considering the actual result of the strategy. Where hedging is performed for a portfolio of products, for instance in cases where hedge instruments may not be allocated to specific products, the undertaking should allocate the effect of hedging to the different products using the weight of each product in the “Economic result without hedging” (cell A9).  
	10000000
	Assess the impact of the hedging strategy and hedge efficiency. 


